[ Efficiency vs vertpos |

< 0.1
20.09
4
20.08
(8]
§0.07
(&)
£0.06
0.05
0.04
0.03
0.02
0.0

T T
"

1.0

Ratio

1

0.95

JARRNRARES T2anBRLRTRRRRNRARRDRAREERRRRE RAREN CARAN LML

0.9

107 1 2

=
2
N

10 0
TP vertr (cr%)

—=— DQM_mkFit_XiMinusPU_retrain2
Efficiend —— pom_mkFit_xiMinusPUold

N 0.1: -

R e
%) F . . . : :
>0.08------ e R i e
> E : : : : :

2 E : : : : :
o

o : . : .
£0.06 : ; SRR e
[
0.05
RS | EIEE U C S S
0.03 : Fooees AR R S
0.02 : ’ ; L AN
0.01} ; ' : ' :

+Q
1.2

Ratio

1.1

-30 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
a 0.09
IS
7 0.08
£0.07
z
c0.06
@
o
£0.05
5}
0.04
0.03
0.02
0.03

1.0

Ratio

._.
T
d

095215 -10 -5

Sim. PV z (cm)



	Contents
	Page 1


